[Time: Two Hours]

1. Question.No.1 is compulsory.
2. Attempt any three questions ou
Figures to the right indicate full

2

N.B:

N < OMmMN < w

15
6
3

sevolved was absorbed in 50ml of 0.1N
lvent

6.25 mL of 0.1N N,OH for exact
he following reaction with respect to allyl chloride.

corroding at the bottom. Give reasons.

-C=12,5

4. Atomic weights
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ined from natural m

b) i) Write a brief note on products obta
ii) Define structural composites.
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a) Asample of coal was found to contain the
and Ash=4%
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coal.

Calculate the minimum weight and volu
b) i) Discuss in brief sacr
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i) What is powder metallurgy?

metallurgy
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iii)
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